MTTC Chemistry Review Test 3: Solutions I

Name

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) With which of the following will ammonium ion form an insoluble salt?


A) sulfate and carbonate


B) carbonate


C) sulfate


D) chloride


E) none of the above

2) The balanced molecular equation for complete neutralization of H2SO4 by KOH in aqueous solution is

A) H2SO4 (aq) + 2KOH (aq)  ( 2H20 (1) + K2S04 (s) 

B) H2SO4 (aq) + 20H- (aq) (~ 2H20 (1) + S042- (aq) 
C)    2H+ (aq) + 20H- (aq) ~(  2H20 (1)

D) 2H+ (aq) + 2KOH (aq) (~ 2H20 (1) + 2K+ (aq)

E) H2SO4 (aq) + 2KOH (aq) (~ 2H20 (1) + K2S04 (aq)

3) The balanced molecular equation for precipitation of AgI when aqueous solutions of AgN03 and NaI an


mixed is

A) AgN03 (aq) + NaI (aq) (~ AgI (aq) + NaN03 (s) 

B) AgN03 (aq) + NaI (aq) (~ AgI (s) + NaN03 (s) 

C) AgN03 (s) + NaI (s) (~ AgI (s) + NaN03 (aq)

D) AgN03 (aq) + NaI (aq) (~ AgI (s) + NaN03 (aq) 

E) AgN03 (s) + NaI (s) ( ~ AgI (aq) + NaN03 (aq)

4) The balanced reaction between aqueous sodium hydroxide and aqueous acetic acid is


A) NaOH (aq) + HC2H302 (aq) ( H2O (1) + NaC2H302 ( aq)


B) NaOH (aq) + HC2H302 (aq) (~ OH-(1) + HC2H302+ (aq) + Na (s)


C) NaOH (aq) + HC2H302 (aq) (~ H2NaC2H30 (aq) + 02 (g)


D) NaOH (aq) + HC2H302 (aq) (~ H2C2H303 (aq) + Na (s)


E) NaOH (aq) + HC2H302 (aq) ( ~ NaC2H303 (aq) + H2 (g)

5) A weak electrolyte exists predominantly as


A) atoms
B) molecules

in solution. C) an isotope

D) electrons

E) ions

6) Lead ions can be precipitated from aqueous solutions by the addition of aqueous iodide:

Pb2+ (aq) + 2I- (aq) (Pbl2 (s)

Lead iodide is virtually insoluble in water so that the reaction appears to go to completion. How many milliliters of 3.550 M HI(aq) must be added to a solution containing 0.700 mol of Pb(N03)2 (aq) to completely

precipitate the lead?

A) 2.54 x 10-3
B) 0.394

C) 0.197

D) 197

E) 394

7) Which one of the following solutions will have the greatest concentration of hydroxide ions?

A) 0.100 M ammonia

B) 0.100 M magnesium hydroxide

C) 0.100 M hydrochloric acid

D) 0.100 M beryllium hydroxide

E) 0.100 M rubidium hydroxide

8) Of the species below, only


A) ammonia

is not an electrolyte.

B) HCl

C) Rb2S04
D) oil

9) What is the molarity of a solution prepared by diluting 43.72 mL of 1.005 M aqueous K2Cr207 to 500 mL?

A) 87.9

B) 0.870

C) 0.0218

D) 0.0879

E) 0.0115

10) How many grams of H3P04 are in 175 mL of a 3.5 M solution of H3P04?

A) 20

B) 4.9

C) 60

D) 0.61

E) 612

11) What is the concentration of chloride ions in a 0.193 M solution of potassium chloride?


A) 0.0643 M
B) 0.0965 M
C) 0.386 M
D) 0.193 M

E) 0.579 M

12) What volume (mL) of 7.48 x 10-2 M phosphoric acid can be neutralized with 115 mL of 0.244 M sodium


hydroxide?


A) 188
B) 375
C) 750
D) 75.0
E) 125

13) When 0.500 mol of HC2H302 is combined with enough water to make a 300 mL solution, the concentration of


HC2H302 is
M.


A) 3.33
B) 0.150
C) 1.67
D) 0.835
E) 0.00167

14) What mass (g) of AgBr is formed when 35.5 mL of 0.184 M AgN03 is treated with an excess of aqueous


hydrobromic acid?


A) 1.44
B) 34.5
C) 1.23
D) 188
E) 53.6

15) You are given two clear solutions of the same unknown monoprotic acid, but with different concentrations.


Which statement is true?


A) If the same volume of each sample was taken, then more base solution would be required to neutralize the


one with lower concentration.


B) There is no chemical method designed to tell the two solutions apart.


C) It would take more base solution (per milliliter of the unknown solution) to neutralize the more


concentrated solution.


0) A smaller volume of the less concentrated solution contains the same number of moles of the acid


compared to the more concentrated solution.


E) The product of concentration and volume of the less concentrated solution equals the product of


concentration and volume of the more concentrated solution.

16) All weak electrolytes are


A) salts
B) acids

C) molecular

D) bases

E) ionic

17) What is the concentration (M) of NaCl in a solution made by mixing 25.0 mL of 0.100 M NaCl with  50.0 mL of


0.100 M NaCl?


A) 0.0333
B) 0.0250
C) 0.0500
0) 1Z5
E) 0.100

18) Which hydroxides are weak bases? 

       1) Sr(OH)z

2) KOH

3) NaOH

4) Ba(OH}2

A) 2,3

B) 2, 3, 4

C) 2,4

D) 1,2,3,4

E) None of these is a weak base.

19) Which of the following reactions will not occur as written?

A) Co (s) + 2HI (aq) (~ H2 (g) + CoI2 (aq)

        B)  Sn (s) + 2AgN03 (aq) ( 2Ag (s) + Sn(N03)2 (aq) 

 C) Mg (s) + Ca(OH)2 (aq) (~ Ca(s) + Mg(OH)2 (aq) 

D ) Zn (s) + Pb(N03)2 (aq) (~ Pb(s) + Zn(N03)2 (aq) 
E)   Co (s) + 2AgCI (aq) (~ 2Ag (s) + CoCl2 (aq)

20) The net ionic equation for the reaction between aqueous solutions of HF and KOH is


A) HF + KOH ( H2O + K+ + F-​


B) HF + K+ + OH- (~ H2O + KF


C) HF + OH- (~ H2O + F-​

0) H+ + F- + K+ + OH- ( ~ H2O + K+ + F-​

E) H+ + OH- ( H2O

3

Answer Key

Testname: SOLUTIONS I.TST

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) E 2) E

3) D

4) A

5) B 6) E 7) E

8) D 9) D

10) C

ll)D

12) E 13) C 14) C 15) C 16) C 17) E

18) E 

19) C 

20) C

